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23:53    expT = 120 s   Kp=nan    moon=0.02
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23:56    expT = 30 s   Kp=nan    moon=0.02
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00:06    expT = 34 s   Kp=nan    moon=0.02

0 100 200 300 400 500
440
460
480
500
520
540
560
580
600

00:05    expT = 30 s   Kp=nan    moon=0.02
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00:15    expT = 31 s   Kp=nan    moon=0.02
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00:14    expT = 30 s   Kp=nan    moon=0.02
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00:24    expT = 37 s   Kp=nan    moon=0.01
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00:24    expT = 30 s   Kp=nan    moon=0.01
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00:34    expT = 40 s   Kp=nan    moon=0.01
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00:33    expT = 30 s   Kp=nan    moon=0.01
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00:44    expT = 47 s   Kp=nan    moon=0.01
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00:43    expT = 30 s   Kp=nan    moon=0.01
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00:55    expT = 52 s   Kp=nan    moon=0.01
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00:54    expT = 30 s   Kp=nan    moon=0.01
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01:06    expT = 65 s   Kp=nan    moon=0.01
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01:05    expT = 30 s   Kp=nan    moon=0.01
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01:19    expT = 89 s   Kp=nan    moon=0.01
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01:19    expT = 30 s   Kp=nan    moon=0.01
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01:37    expT = 141 s   Kp=nan    moon=0.01
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01:36    expT = 30 s   Kp=nan    moon=0.01
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02:02    expT = 259 s   Kp=nan    moon=0.01
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02:01    expT = 30 s   Kp=nan    moon=0.01
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02:37    expT = 306 s   Kp=nan    moon=0.01
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02:36    expT = 30 s   Kp=nan    moon=0.01
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03:15    expT = 302 s   Kp=nan    moon=0.01
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03:15    expT = 30 s   Kp=nan    moon=0.01
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03:50    expT = 252 s   Kp=nan    moon=0.01
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03:50    expT = 30 s   Kp=nan    moon=0.01
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04:21    expT = 231 s   Kp=nan    moon=0.01
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04:20    expT = 30 s   Kp=nan    moon=0.01
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04:56    expT = 375 s   Kp=nan    moon=0.01
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04:56    expT = 30 s   Kp=nan    moon=0.01
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05:42    expT = 432 s   Kp=nan    moon=0.01
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05:42    expT = 30 s   Kp=nan    moon=0.01
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06:32    expT = 450 s   Kp=nan    moon=0.01
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06:32    expT = 30 s   Kp=nan    moon=0.01

0 100 200 300 400 500
446.0
446.5
447.0
447.5
448.0
448.5
449.0
449.5
450.0
450.5

07:22    expT = 422 s   Kp=nan    moon=0.01
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07:21    expT = 30 s   Kp=nan    moon=0.01
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08:09    expT = 433 s   Kp=nan    moon=0.01
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08:09    expT = 30 s   Kp=nan    moon=0.01
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08:57    expT = 414 s   Kp=nan    moon=0.01
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08:57    expT = 30 s   Kp=nan    moon=0.01
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09:43    expT = 363 s   Kp=nan    moon=0.01
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09:42    expT = 30 s   Kp=nan    moon=0.01
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10:21    expT = 297 s   Kp=nan    moon=0.01
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10:20    expT = 30 s   Kp=nan    moon=0.01
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10:48    expT = 131 s   Kp=nan    moon=0.01
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10:47    expT = 30 s   Kp=nan    moon=0.01


